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—— Laser ON Entries: 60606 Entries: 39357
Mean: -31.2458 «- 0.0788 | Mean: -0.0626 +- 0.0564
—— Laser OFF

Std Dew: 19.6727 +/- 0.0565 | Std Dew: 11.5881 +/- 0.0413
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-------- Histogram Vars
Positive Hel (ON): 13.046865 +/- 0.002544
Negative Hel (ON): 13.765404 +/- 0.002684
Positive Hel (OFF): 1.906418 +/- 0.001124
Negative Hel (OFF): 1.907858 +/- 0.001127

-------- Sums and Diffs

On Diff: -0.718539 +/- 0.001835

Off Diff: -0.001439 +/- 0.001343
On Sum: 26.812268 +/- 0.004898

Off Sum: 3.814276 +/- 0.001806
-------- Asymmetries
On Asym: -31.243564 +/- -0.080114 (ppt)
Off Asym: -0.062588 +/- -0.058412 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 22.997993 +/- 0.005220
BkSub Asym: -31.180976 +/- 0.099148 (ppt)
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Run 5551 quartetwise, posHO vs time
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Run 5551 quartetwise, asymQOsub vs time
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Run 5551 quartetwise, negHO0 vs time
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Run 5551 quartetwise, bcm vs time
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